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1. ( 1 ) 
1.1  
 
 [ ] 2 [ ]  [ ]  [ ] 1 [ ]  
 

 [ ]  [ ] CPU [ ]  [ ] CASL II [ ] COMET II 
 

 
 
1.2 ( 1 ) 
 
(1) b, d 

 
 

2.  
2.1 ( 1 ) 
 
 (1) 1 (2) 16 (3) 4 (4) 16 (5) 4 

 
 
2.2 ( 1 ) 

 
 [ ] 10000 [ ] 10001 [ ] A [ ] B [ ] C 
 
 [ ] D [ ] E [ ] F [ ] 10 [ ] 11 

 
 

2.3 ( 2 ) 
 

(1) 
[ ] 

(10101101)2=(1�2
7+1�25+1�23+1�22+1�20)10 

 =(128+32+8+4+1)10 
 =(173)10 

[ ] 

(11010010)2=(1�2
7+1�26+1�24+1�21)10 

 =(128+64+16+2)10 
 =(210)10 
 

 
 

(2) 
[ ] 
(321)10 =(256+64+1)10 

 =(101000001)2 
 

( ) 
   2) 321 - 1 
   2) 160 - 0 
   2) 80 - 0 
   2) 40 - 0 
   2) 20 - 0 
   2) 10 - 0 
   2) 5 - 1 
   2) 2 - 0 
    1  
 

[ ] 
(255)10 =(128+64+32+16+8+4+2+1)10 

 =(11111111)2 
 

(255)10 =(256-1)10 
 =(100000000-1)2 
 =(11111111)2 

 
   2) 255 - 1 
   2) 127 - 1 
   2) 63 - 1 
   2) 31 - 1 
   2) 15 - 1 
   2) 7 - 1 
   2) 3 - 1 
    1  

 
(3) 

[ ] 

2 4 16 1 2

4 16  
  (1011)2 =(8+2+1)10 =(B)16 
  (0101)2 =(4+1)10 =(5)16 
  (1111)2 =(8+4+2+1)10 =(F)16 
  (0010)2 =(2)10 =(2)16 

(1011010111110010)2=(B5F2)16  

[ ] 
 

  (1101)2 =(8+4+1)10 =(D)16 
  (1001)2 =(8+1)10 =(9)16 
  (0111)2 =(4+2+1)10 =(7)16 
  (1010)2 =(8+2)10 =(A)16 

 

(1101100101111010)2=(D97A)16
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(4) 
[ ] 

16 1 2 4  
  (D)16 =(8+4+1)10 =(1101)2 

  (C)16 =(8+4)10 =(1100)2 
  (B)16 =(8+2+1)10 =(1011)2 
  (A)16 =(8+2)10 =(1010)2 
   

(DCBA)16=(1101110010111010)2
 

 
 

[ ] 
 

  (8)16 =(8)10 =(1000)2 
  (9)16 =(8+1)10 =(1001)2 
  (E)16 =(8+4+2)10 =(1110)2 
  (F)16 =(8+4+2+1)10 =(1111)2 

(89EF)16=(1000100111101111)2
 

 
 

3.  
(1) ( 2 ) 

[ ] 

� (-63)10 (63)10 2  

(63)10=(32+16+8+4+2+1)10=(111111)2  
 

 0000000000111111  2 (16 ) 

 1111111111000000   

 1111111111000001  +1  
 
  1111111111000001  

[ ] 
 

(33)10=(32+1)10=(100001)2  
 

 0000000000100001  2 (16 ) 

 1111111111011110   

 1111111111011111  +1  
 
  1111111111011111  

 
 
 
(2) (4 ) 

 

(21)10 8  
(21)10=(16+4+1)10=(00010101)2 

 

(-27)10 (63)10 2
 

(27)10=(16+8+2+1)10=(11011)2 
8 2

(11100101)2  
 

 00010101   21  

 + 11100101  -27  
 11111010 
 

 
7 1

 
 

 11111010   

 00000101   

 00000110  +1  
 

(4+2)10=(6)10  

(21-27)10=(-6)10
 

 
 

 
(3) (2 ) 
 

2 -1 +1
 

 0110001110100110   

 1001110001011001   

 1001110001011010  +1  

1001110001011010  
 

 
 
4. ( 2 ) 
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� � � � � � � � � � � � � � � � � � � '
� � � � � � � � � � � � � � � � ) ) & �
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5. COMET II  
���� ( 1 ) 
 [ ] 16 [ ] 1  [ ] (or ) [ ] (or ) [ ]  
 
 [ ]  [ ] 16 [ ]  
 
 

���� (3 ) 
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3 5 CPU
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���� ( 3 ) 
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[ ]  
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